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CBT Sample assessment model answers

Indirect Tax (IDRX) FA2016

Sample assessment 2




Task 1  (6 marks)
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Task 1  (continued)
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Task 2  (9 marks)
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Task 2  (continued)
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Task 3  (5 marks)
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Task 4  (9 marks)
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Task 4  (continued)
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Task 5  (7 marks)
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Task 6  (7 marks)
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Task 7  (17 marks)
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Task 7  (continued)
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Task 8  (10 marks)
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Task 8  (continued)
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(d) Regarding the VAT due from the date registration should have taken place, is the
following statement true or false? (4 mark

‘The business may atemptto recover the appropriate VAT from s customers.
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Abusiness incurs inputtax n relation to its exempt, ifs zero-rated and ifs standard-rated supplies in a VAT
period. The inputtax that relates to s exempt supplies is more than the ‘de minimus’ amount

(a) Identify whether turnover from each type of supply is included when calculating the
business’s taxable turnover. (3 marks

Tumover from exempt supplies

Tumover from zero-rated supplies

‘Tumover from standard-rated supplies

(b) Complete the following statement relating to the business’s recovery of input tax for the
VAT period. (@ marks

The business may recover ofits input tax.

Abusiness receives an invoice In respect of zero-rated goods ithas purchased

(€) Complete the following statement. (@ marks

As aesultof this invoice, the business's input tax for the VAT period
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Abusiness delivers standard-rated goods to ts customer on 11 February. tissues a VAT invoice on 27
February.

(d) () Whatis the tax point for this supply? (@ marks)

11 February

27 February

(i) Complete the following statement.

On the VAT invoice, the business must as a minimum state the total amount payable for the standar-rated

goods [excluding VAT g
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Abusiness operates a single special accounting scheme for VAT and has the following characteristics:
+ itjoined the scheme when ifs taxable turmover was less than £1.36m per year
+ s taxable tumover remains less than £1.6m per year

+ itdoes not pay VAT to HMRC until it has been paid by the customer.

(a) Which of the following schemes is the business using? (@ marks)

“The annual accounting scheme

‘The cash accounting scheme

“The flatrate scheme

Abusiness uses no special VAT scheme. fthas set up a direct debit mandate for payment of VAT to HIRC. its
standard-rated sales always exceed its standard-rated purchases.

(b) Complete the following statement. (@ marks)

Adrectdenitpaymentistaken by HURC...[Fr worin daye terve e dw or AT e Rl

Abusiness operates the annual accounting scheme and always has more output tax than input tax.

(€) Identify whether the following statement s true or false. (1 mari)

‘The business only has to make one VAT paymentin each calendar year.
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Abusiness made a pari-payment in advance to a supplier on 19 January. The business received goods and
an invoice on 20 Aprl It paid the balance due on 7 July. The business uses no special accounting scheme for
VAT.

(a) In which of the business’s VAT periods must input tax on the advance payment be
included in the VAT return? (@ marks)

VAT period ending 31 January

VAT period ending 30 April

VAT period ending 31 July

(b) Identify whether each of the following statements is true or false. (4 marks)

HMRC only considers a VAT retum to be late ifitis received by HMRC more than three working days afer the
due date.

‘A business which fails fo submit a VAT retur could receive an assessment flom HMRC of the amount
estimated to be due.

Separately declaring to HMRC an error in a previous VAT retum means no penalty will be payable.

Abusiness which pays HMIRC after the due date will be immediately liable for a penalty.
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An accountant has failed to submit a VAT retur and pay HMRC because she was not aware of the due dates
orthe process for submission.

() Wnich ethical principle has the accountant breached? (1 mark

Integrity

Frofessional competence and due care

Abusiness has retumed standard-rated goods to the supplier. It s recording amounts ffom the credit note
relating to this retum.

(d) Complete the following statement. (@ marks)
‘The business is prevented from treating the VAT amount on the credit note as inputtax i the.

business loses the credit note.

original purchase took place more than 30 days previously.

business was issued with a simplified invoice for the original purchase.
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Abusiness makes a standard-rated supply for £1.780 72, incluging VAT,

(a) Howmuch VAT should be included on the VAT invoice? (@ marks)

& [ams7e

Abusiness makes a standard-rated supply or £2,198 86 plus VAT toffers a prompt payment discount of 2 5%
and the customer pays the invoice within the prompt payment period.

(b) Howmuch VAT is due to HMRC for this transaction? (@ marks)

& [

Abusiness has prepared ifs draft VAT return for the current period. This shows a repayment due from HMRC of
£12,890.53. An invoice issued by a supplier has been entered in the daybook but has not been included in the
VAT retum. This omission must be corrected before the VAT return is submitted.

(€) Complete the following statement. (@ marks)

“The correction will the amount of the repayment shown on the VAT retum.

Abusiness has correctly prepared ifs drat VAT return for the current VAT period. Itinds that the Box 4 igure on
the retum is £2,500 less than the amount of input tax shown in the VAT account

(d) Wnich of the following reasons would explain the discrepancy? (1 mari)

Acredit note showing VAT of £2,500 received ffom a supplier has been recorded twice in
the VAT account
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(a) Calculate the figure to be included in Box 1 of the VAT return, once any necessary
corrections to the ledger accounts have been made. @marks

12304476

(b) Calculate the figure to be included in Box 4 of the VAT return, once any necessary

corrections to the ledger accounts have been made. (3marks

5583768

(¢) Calculate the figure to be included in Box 7 of the VAT return, once any necessary

corrections to the ledger accounts have been made.

‘Your figure should be in whole pounds only.

254158
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() Enter the figures for boxes 1 to 9 of the VAT return for the period ended 31 January. Do
not leave any box blank. (13 marks

‘Oniine VAT Retun for period ended 31 Januas

Please note: Enter values in pounds sterling, including pence, for example 1000.00, except where indicated.

VAT due in this period on sales and other outputs (Box 1) 2140449

VAT due in this period on acquisitions from other EC| 567
member states (80x 2) i

Total VAT due (the sum of boxes 1 and 2) (Box 3)| - Calculated value

VAT reclaimed in the period on purchases and otner inpus| 2363513
(including acquisitions from the EC) (Box 4)

Net VAT to be paid fo HM Revenue & Customs or reclaimed by|

You (diflerence between boxes 3 and 4) (Box 5)| C2lcvlated value

Total value of sales and all other outputs excluding any VAT| 107022

Include your Box 8 figure. (80X 6)| 6 pounds only

Total value of purchases and all other inputs excluding any VAT| 118178

Include your Box 8 figure. (80x 7)| e pounds only

Total value of al supplies of goods and related coss, excluding any VAT| 0

‘o other EC member states. (80 81| yynote pounds only

Total value of all acquisitions of goods and related costs, excluding| 2478
any VAT, from other EC member states. (Box 9)

Whole pounds only
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(b) Calculate the values that will be shown online when you submit the VAT return for the
following boxes. If a repayment s due, use a minus sign in Box 5. (@ marks

Total VAT due (the sum of boes 1 and 2) (Box 3) 2100016

NetVAT to be paid to HI Revenue & Customs of reclaimed
by you (difference between boxes 3 and 4) (Box 5) Siraaer
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You are the accounting technician for  business, reporting to the Accountant. The business uses the flat rate
VAT scheme for small businesses ata rate of 12%. You have completed allthe ledger accounts necessary for
completing the VAT return for the period ended 31 July. The business has a policy of submitting VAT returs as

Iate as permissible.
As at31 July the ledger accounts show:

+ grosssales in the period 0f£26,348 50
+ gross purchases in the period 0f£16,261.98

() Draftan email to the accountant providing the required information about the VAT return
that needs to be submitted. (@ marks

Date: 14 August

Subject VAT retum

I have completed the ledgers in preparation for submiting the online VAT return for the period ending
31July.

‘The amount of VAT that mustbe  [paia n willbe £ [316182

Please amange to submitthe online retum to HMRC on or before [7 Saptember

atthe latest.

Kind regards

Accounting Technician
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‘The business has bought three small businesses, one in the UK and two in other EU countries. Only one of
these is registered for VAT. The Accountant wants a precise answer today 2bout how the acquisitions will affect
the VAT registration and use of the flatrate scheme. You are aware thatthe detail required in the answer is
beyond your current expertise.

(b) How should you respond to the Accountant’s request? (@ marks)

“OK, I hink | know the answer to that query so | will change the registration and the VAT scheme we use
accordingly”

“Idon'tknow allthe implications of these acquisitions but I willjustignore the new businesses unti
HMRC gets in touch *

“Idon'tknow the full answer to that query 5o | cannot give the answer you require without further
aovice.”
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Abusiness makes mixed supplies of standard-rated and zero-rated items. The business’s sales to date have
been evenly spaced throughout the year, 3t£8,000 3 monih. Itis facing reduced sales and it estimates that
monthly tumover wil be £4,000 from 1 January onwards.

(a) Which one of the following statements most accurately describes the business’s VAT
registration position as at 30 June? (@ marks)

Asthe business has been registered for many years it must remain registered.

‘The business must deregister s ts annual tumover will have dropped below the,
Geregisiration threshold

‘The business can choose whether to deregister or stay registered.

AVAT-registered business must comply with HMRC's requirements for keeping VAT records

(b) Identify whether the following statement s true or false. (1 mari)

VAT records exclude records of goods and services purchased for which there is no VAT reclaim

A business reached the VAT registration threshold over two months ago. It has not registered for VAT,

() Complete the following statement by choosing one option. (@ marks)

The business willface [ cvl penaly B from HMRC.





